
 

 

 

 

 

The Piggy Bank Puzzle  

 

Bill’s piggy bank held coins six 

The same was true of brother Dick’s 

The largest piece was half a dollar 

The eleven others all were smaller 

And when they added up their tills 

Dick’s sum was two cents more than Bill’s 

Now each of them spent coins three 

And they must have withdrawn equally 

For when they once again took score 

Dick’s sum remained just two cents more 

Now please account for every cent  

How much they saved - how much they spent 
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